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´.HVXNVHVDQ�EXNDQ�WHQWDQJ�VHEHUDSD�EDQ\DN�XDQJ�\DQJ�

NDPX�KDVLONDQ��WDSL�VHEHUDSD�EHVDU�NDPX�ELVD�PHPEDZD�

SHUXEDKDQ�XQWXN�KLGXS�RUDQJ�ODLQµ��²0LFKHOOH�2EDPD�

³�.XQFL�NHVXNVHVDQ�DGDODK�%HUGRD��%HUXVDKD��NHUMD�NHUDV��\DNLQ��GDQ�EHUEXDW�EDLN�

NHVHVDPD�\DQJ�PHPEXWXKNDQ��SHUFD\DODK�PDND�KDO�EDLN�SXQ�DNDQ�GDWDQJ�

PHQJKDPSLUL´���$SULOLD�7LVDQLH�<DVPLQ�
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$OKDPGXOLOODK��VHJDOD�SXML�V\XNXU�DWDV�VHJDOD�QLNPDW�GDQ�NDUXQLD�\DQJ�WHODK�

GLEHULNDQ $OODK�6:7 GHQJDQ�VHJDOD�NHWHUEDWDVDQ�\DQJ�VD\D�PLOLNL��VD\D�GDSDW�

PHQ\HOHVDLNDQ�VWXGL��VNULSVL��KLQJJD�JHODU�VDUMDQD�\DQJ�VD\D�SHUROHK��7HULPD�NDVLK�

NHSDGD $OODK 6:7��\DQJ VHODOX�PHPEHULNDQ�NHPXGDKDQ�GDQ�NHODQFDUDQ�NHSDGD�

VD\D VHODPD�SURVHV�PHQJHUMDNDQ�VNULSVL�

.DU\D�WXOLV�SHUWDPD�VD\D�LQL�GHQJDQ�EDQJJD�VD\D�SHUVHPEDKNDQ�NHSDGD�

� 8QWXN�RUDQJ� WXD� VD\D� \DQJ� WHUFLQWD PDPD�GDQ�D\DK��7HULPD�NDVLK� \DQJ�

VHODOX� PHQGXNXQJ� VD\D� XQWXN� EHUMXDQJ� PHQJKDGDSL� WXJDV� DNKLU� GDQ�

PHQGRDNDQ�DJDU�VHPXD�XVDKD�VD\D�ELVD�EHUMDODQ GHQJDQ ODQFDU�GDQ�WHUFDSDL�

7HULPD�NDVLK�WHODK�PHPRWLYDVL�VD\D�WHUXV�PHQHUXV�KLQJJD�WXJDV�DNKLU�VD\D�

VHOHVDL�� 6D\D� WLGDN� DNDQ� EHUMDQML� XQWXN�PHPEDQJJDNDQ� NDOLDQ�� WDSL� VD\D�

DNDQ� PHPEXDW� NDOLDQ� EDKDJLD� GDQ� EDQJJD� GHQJDQ� DSD� \DQJ� WHODK� VD\D�

ODNXNDQ�GHQJDQ�NHUMD�NHUDV�VD\D�

� 8QWXN�'RVHQ�3HPELPELQJ�VD\D�%DSDN�'U��'UV��$JXV�6DPHNWR��$N���0�6L��

7HULPD�NDVLK�DWDV�ELPELQJDQQ\D�VHODPD�LQL�GDQ�VHODOX�PHPEHUL�VHPDQJDW�

WHUKDGDS�VHPXD�DQDN�DQDN�ELPELQJDQQ\D DJDU�VHJHUD�PHQ\HOHVDLNDQ�WXJDV�

DNKLUQ\D�GHQJDQ�WHSDW�ZDNWX�

� 8QWXN� DGLNNX� WHUVD\DQJ� $LVV\DK� $GHOLD� <DVPLQ� GDQ� .KDQ]D� $GHOLV\D�

<DVPLQ WHULPD� NDVLK� WHODK PHQMDGL� SHQ\HPDQJDWNX� GDQ VHODOX�

PHQJKLEXUNX�� 6HPRJD� NDOLDQ� MXJD� GDSDW� PHUDLK� FLWD� ± FLWD� \DQJ� NDOLDQ�

LQJLQNDQ��$DPLLQ�
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� 8QWXN�VDKDEDW�VD\D�1XULQD�.DUWLND�VDUL��1XUIDGLOD��5H[\WD�'ZL�&DK\DQL��

WHULPD�NDVLK�EDQ\DN�WHODK�PHPEDQWX�VD\D�GDODP�PHQ\HOHVDLNDQ�WXJDV�DNKLU�

VD\D�VHKLQJJD�VD\D�GDSDW�PHQ\HOHVDLNDQ�GHQJDQ�WHSDW�ZDNWX��WHULPD�NDVLK�

WHODK�PHQGHQJDUNDQ�NHOXK�NHVDK�VD\D��WHULPD�NDVLK�EDQ\DN�WHODK�PHQMDGL�

WHPDQ��VDKDEDW��EDKNDQ�VDXGDUD�EDJL�VD\D��6HPRJD�SHUWHPDQDQ�NLWD�ELVD�7LOO�

-DQQDK�\DD��6HPRJD�WDKXQ�LQL�NLWD�ELVD�PHUDLK�FLWD�± FLWD�GDQ�KDUDSDQ�NLWD�

GDSDW�WHUFDSDL�VHPXD��$DPLLQ��7HULPD�NDVLK�MXJD�XQWXN�WHPDQ�� WHPDQ�JUXS�

+LMDEHUV�\DQJ�VXGDK�PHPEHULNDQ�VHPDQJDW�XQWXN�VD\D�

� 8QWXN�VDKDEDW�VD\D�VHPDVD�NXOLDK�.KDOLPDWXV�6D¶GL\DK��*DQLV�.DUWLND�'ZL�

+DQGD\DQL��1RU�)DX]L\DK��WHULPD�NDVLK�WHODK�VDOLQJ�PHPEHULNDQ�VHPDQJDW��

VDOLQJ�PHPEDQWX�VHODPD�NXOLDK�GDQ�VHPRJD�DSD�\DQJ�NLWD�FLWD�± FLWD�NDQ�

MXJD�GDSDW�WHUFDSDL��$DPLLQ�

� 8QWXN� WHPDQ�WHPDQ� JUXS� WD\RPDQLD�� WHULPD� NDVLK� WHODK� PHQMDGL� WHPDQ�

VKDULQJ��VHPRJD�NDOLDQ�VHPXD�VXNVHV��$DPLLQ�

� 8QWXN� VDKDEDW� VD\D�$\X�6LVFD�$QMDUVDUL�� WHULPD�NDVLK� WHODK�PHPEHULNDQ�

VD\D�VHPDQJDW�� �6HPDQJDW� MXJD�\DD�GDODP�PHQ\HOHVDLNDQ�VNULSVLQ\D��DNX�

\DNLQ�NDPX�ELVD��6HPDQJDW�WHUXV�\D�VLVW��VHPRJD�VXNVHV�

� 8QWXN� WLP� VNULSVL� 3DN�$JXV \DQJ� WLGDN� ELVD� VD\D� VHEXWNDQ� VDWX� SHUVDWX��

WHULPD� NDVLK� VXGDK� EHUMXDQJ� EHUVDPD� VHODPD� PHQJHUMDNDQ� VNULSVL�� 6D\D�

XFDSNDQ�WHULPD�NDVLK�EDQ\DN�GDQ�VHPRJD NDOLDQ VXNVHV�
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3XML� V\XNXU� SHQXOLV� SDQMDWNDQ� XQWXN� 7XKDQ� <DQJ�0DKD� (VD� \DQJ� WHODK�

PHOLPSDKNDQ� UDKPDW� VHUWD� KLGD\DK�1\D�� VHKLQJJD� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ�

VNULSVL�GHQJDQ�MXGXO�³3HUVHSVL�0DV\DUDNDW�7HUKDGDS�/D\DQDQ�3XEOLN�(�.73�

'LVSHQGXNFDSLO�.RWD�6XUDED\D���)UDPLQJ�*RRG�*RYHUQDQFH�´�GHQJDQ�EDLN�GDQ�

ODQFDU�

3HQXOLV� PHQ\DGDUL� VHSHQXKQ\D� GDODP� SHQ\XVXQDQ� VNULSVL� LQL� WLGDN� DNDQ�

VHOHVDL� WDQSD�GXNXQJDQ�GDQ�EDQWXDQ�GDODP�EHUEDJDL�SLKDN��3DGD�NHVHPSDWDQ�LQL��

SHQXOLV�PHQ\DPSDLNDQ�UDVD�KRUPDW�GDQ�XFDSDQ�WHULPDNDVLK�NHSDGD�

�� %DSDN�'U��<XGL�6XWDUVR��6�(���0�6L��VHODNX�NHWXD�67,(�3HUEDQDV�6XUDED\D

�� %DSDN 'U��1DQDQJ�6KRQKDGML��6�J(��$N��0�6L���&$���&,%$���&0$� VHODNX�

.HWXD�3URJUDP�6WXGL�6DUMDQD�$NXQWDQVL�67,(�3HUEDQDV�6XUDED\D�

�� %DSDN�'U��'UV��$JXV�6DPHNWR��$N���0�6L� VHODNX�'RVHQ�3HPELPELQJ��\DQJ�

WHODK�PHPELPELQJ�GDQ�PHPEHULNDQ�VDUDQ��PDVXNDQ�� VHUWD�DUDKDQ�VHODPD�

SURVHV�SHQ\HOHVDLDQ�VNULSVL�

�� ,EX�'UD��1XU�6XFL�,��0HL�0XUQL��$N���0��0�&$� VHODNX�GRVHQ�ZDOL�

�� ,EX� 'U�� 'UD� 'LDK� (NDQLQJWLDV�� $N���00��� &$��� $$3�% GDQ� %DSDN 'U��

1DQDQJ� 6KRQKDGML�� 6�(��$N�� 0�6L��� &$��� &,%$��� &0$� VHODNX� GRVHQ�

SHQJXML�VNULSVL�

�� %DSDN�GDQ�,EX�GRVHQ�EHVHUWD�&LYLWDV�$NDGHPLND�67,(�3HUEDQDV�6XUDED\D�

�� 6HUWD�VHPXD�SLKDN�\DQJ� WLGDN�ELVD�VD\D�VHEXWNDQ�VDWX�SHUVDWX��VHNDOL� ODJL�

VD\D�XFDSNDQ�WHULPD�NDVLK�



L[

3HQXOLV�PHQ\DGDUL�EDKZD�VNULSVL�LQL�PDVLK�MDXK�GDUL�NHVHPSXUQDDQ��2OHK�

NDUHQD� LWX�� SHQXOLV� PHPRKRQ� PDDI� DSDELOD� PDVLK� EDQ\DN� NHNXUDQJDQ� NDUHQD�

NHWHUEDWDVDQ�SHQJHWDKXDQ�GDQ�SHQJDODPDQ�

$NKLUQ\D� GHQJDQ� UDVD� UHQGDK� KDWL�� SHQXOLV� KDUDSNDQ� VHPRJD� VNULSVL� LQL�

GDSDW�EHUPDQIDDW�EDJL�VHPXD�SLKDN�\DQJ�PHPEXWXKNDQ��.ULWLN�GDQ�VDUDQ�VDQJDW�

GLKDUDSNDQ�SHQXOLV�XQWXN�NHVHPSXUQDDQ�SHQHOLWLDQ�VHODQMXWQ\D�

6XUDED\D�����6HSWHPEHU ����

3HQXOLV�
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+DODPDQ

7DEHO���� ��,QGLNDWRU�SULQVLS *RRG�*RYHUQDQFH�3DGD�,QVWDQVL 3HPHHULQWDKDQ

3HQJHUWLDQ�7DWD�3HPHULQWDKDQ�\DQJ�%DLN�XQWXN�3HODNVDQDDQ�3HOD\DQDQ�(�.73 ��
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+DODPDQ

*DPEDU���� ,QIRUPDVL�*HGXQJ�SHOD\DQDQ�GDQ�,QIRUPDVL�-DP�2SHUVLRQDO �

*DPEDU ��� 6WUXNWXU�2UJDQLVDVL�'LVSHQGXNFDSLO�.RWD�6XUDED\D �

*DPEDU���� ,QIRUPDVL�3HUV\DUDWDQ�GL�:HEVLWH�'LVSHQGXNFDSLO�NRWD�6XUDED\D ��

*DPEDU���� -DQJND�:DNWX�3HQ\HOHVDLDQ�3HOD\DQDQ�\DQJ�DGD�GL�%URVXU�

'LVSHQGXNFDSLO�.RWD�6XUDED\D ��

*DPEDU���� .HUDQJND�3HPLNLUDQ ��

*DPEDU���� 7HNQLN�7ULDQJXODVL ��

*DPEDU���� 7DKDS�3HQHOLWLDQ ��

*DPEDU����9LVL�GDQ�0LVL�\DQJ�DGD�GL�5XDQJ�3HOD\DQDQ�GDQ�GL�ZHEVLWH�

'LVSHQGXNFDSLO�NRWD�6XUDED\D ��

*DPEDU���� 6WUXNWXU�2UJDQLVDVL�'LVSHQGXNFDSLO�.RWD�6XUDED\D ��

*DPEDU���� ,QIRUPDVL�WHUNDLW�3HUV\DUDWDQ�GL�:HEVLWH�'LVSHQGXNFDSLO�NRWD�

6XUDED\D�GDQ�GL�5XDQJ�3HOD\DQDQ ��

*DPEDU���� 0RWWR�3HOD\DQDQ�\DQJ�DGD�GL�:HEVLWH�'LVSHQGXNFDSLO�

NRWD�6XUDED\D ��

*DPEDU����5XDQJ�7XQJJX�\DQJ WHUVHGLD�GL�'LVSHQGXNFDSLO�.RWD�6XUDED\D ��

*DPEDU����7RLOHW�\DQJ�DGD�GL�'LVSHQGXNFDSLO�.RWD�6XUDED\D ��

*DPEDU���� /RNHW�DWDX�0HMD�3HOD\DQDQ�\DQJ�DGD�GL�'LVSHQGXNFDSLO�.RWD�

6XUDED\D ��

*DPEDU����5XDQJ�/DNWDVL�\DQJ�DGD�GL�'LVSHQGXNFDSLO�.RWD�6XUDED\D ��

*DPEDU���� .XUVL�5RGD�EDJL�3HQJJXQD�/D\DQDQ�%HUNHEXWXKDQ�.KXVXV�\DQJ�DGD�

GL�'LVSHQGXNFDSLO�.RWD�6XUDED\D ��
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*DPEDU����� 7RLOHW�EDJL�3HQJJXQD�/D\DQDQ�%HUNHEXWXKDQ�.KXVXV�\DQJ�DGD�GL�

'LVSHQGXNFDSLO�.RWD�6XUDED\D ��

*DPEDU����� 3HOD\DQDQ�.KXVXV�6LVWHP�-HPSXW�%ROD�NHSDGD�3HQJJXQD /D\DQDQ�

%HUNHEXWXKDQ�.KXVXV�ROHK�'LVSHQGXNFDSLO�.RWD�6XUDED\D ��

*DPEDU����� -DQJND�:DNWX�3HQ\HOHVDLDQ�3HOD\DQDQ�\DQJ�DGD�GL�%URVXU�

'LVSHQGXNFDSLO�.RWD�6XUDED\D ��
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$SULOLD�7LVDQLH�<DVPLQ

67,(�3HUEDQDV 6XUDED\D

(PDLO�������������#VWXGHQWV�SHUEDQDV�DF�LG

$%675$&7

7KLV� VWXG\� DLPV� WR� GHWHUPLQH� WKH� SXEOLF� SHUFHSWLRQ� RI� SXEOLF� VHUYLFHV�
'LVSHQGXNFDSLO�6XUDED\D��)UDPLQJ�*RRG�*RYHUQDQFH���ZKLFK�KDV�QRW�EHHQ�NQRZQ�
WR�EH�DVVRFLDWHG�SULQFLSOHV�RI�WUDQVSDUHQF\��DFFRXQWDELOLW\��UHVSRQVLELOLW\��IDLUQHVV�
��HTXDOLW\��HIILFLHQW�DQG�HIIHFWLYH��7KLV�UHVHDUFK� LV�D�TXDOLWDWLYH�GHVFULSWLYH�VWXG\�
UHVSRQGHQWV�SHRSOH�RI�6XUDED\D��5HVSRQGHQW�ZLWK� LQFLGHQWDO�VDPSOLQJ��7KH�GDWD�
DQDO\VLV�WHFKQLTXH�XVHG�LV�WKH�DQDO\VLV�RI�TXDOLWDWLYH�GDWD��'DWD�ZDV�FROOHFWHG�E\�
REVHUYDWLRQ�� LQWHUYLHZ�� DQG� GRFXPHQWDWLRQ�� 7KH� YDOLGLW\� RI� WKH� GDWD� XVHG� LV� WKH�
WHFKQLTXH�RI�WULDQJXODWLRQ�PHWKRG�

7KHVH� UHVXOWV� LQGLFDWH� WKDW� WKH� SXEOLF� SHUFHSWLRQ� RI� VHUYLFH� XVHUV�(�.73�
FDUG� LQ� 6XUDED\D� FLW\� 'LVSHQGXNFDSLO� VWDWHV� WKDW� VHUYLFH� SURYLGHUV� VWLOO�
XQVDWLVIDFWRU\� RQ� VHYHUDO� SULQFLSOHV�� 6RPH� RI� WKH� SULQFLSOHV� WKDW� DIIHFW� SXEOLF�
VHUYLFHV�LQ�'LVSHQGXNFDSLO�FLW\�RI�6XUDED\D��WKH�SULQFLSOH�RI�WUDQVSDUHQF\��HDVH�RI
DFFHVV�WR�LQIRUPDWLRQ�DQG�WKH�SURFHGXUH�LV�HDV\���DFFRXQWDELOLW\��UHVSRQVLELOLW\�WR�
HPSOR\HHV�RQ�SHUIRUPDQFH��EHKDYLRU��DQG�HWKLFV���SULQFLSOHV�RI�IDLUQHVV���HTXDOLW\�
�QRW� GLVFULPLQDWH� LQ� SURYLGLQJ� VHUYLFHV� DQG� IDFLOLWLHV� LQIUDVWUXFWXUH��� ,QFUHDVHG�
'LVSHQGXNFDSLO�VHUYLFH�SURYLGHUV�LQ�WKH�FLW\�RI�6XUDED\D�FDQ�EH�PRUH�UHVSRQVLYH�
PDQQHU�DQG�UHVSRQG�WR�WKH�SXEOLF�ZKHQ�PDQ\�YLVLWRUV�DQG�LQFUHDVH�WKH�QXPEHU�RI�
EODQN�(�.73�FDUG�WR�EH�WLPHO\�LQ�SURYLGLQJ�VHUYLFHV�

.H\ZRUGV��SXEOLF�SHUFHSWLRQ��SXEOLF�VHUYLFHV��JRRG�JRYHUQDQFH
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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� SHUVHSVL� PDV\DUDNDW� WHUKDGDS�
OD\DQDQ�SXEOLN�'LVSHQGXNFDSLO�NRWD�6XUDED\D���)UDPLQJ�*RRG�*RYHUQDQFH���\DQJ�
VHODPD� LQL� EHOXP� GLNHWDKXL� WHUNDLW� SULQVLS� WUDQVSDUDQVL�� DNXQWDELOLWDV��
UHVSRQVLELOLWDV��NHDGLODQ�NHVHWDUDDQ��HIHVLHQ�	�HIHNWLYLWDV��3HQHOLWLDQ�LQL�PHUXSDNDQ�
SHQHOLWLDQ� GHVNULSWLI� NXDOLWDWLI� GHQJDQ� UHVSRQGHQ� PDV\DUDNDW� NRWD� 6XUDED\D��
3HQHQWXDQ� UHVSRQGHQ� GHQJDQ� LQVLGHQWDO� VDPSOLQJ� 7HNQLN� DQDOLVLV� GDWD� \DQJ�
GLJXQDNDQ� DGDODK� DQDOLVLV� GDWD� NXDOLWDWLI�� 3HQJXPSXODQ� GDWD� GLODNXNDQ� GHQJDQ�
REVHUYDVL��ZDZDQFDUD��GDQ�GRNXPHQWDVL��.HDEVDKDQ�GDWD�\DQJ�GLJXQDNDQ�DGDODK�
WHNQLN�WULDQJXODVL�PHWRGH�

+DVLO� SHQHOLWLDQ� LQL� PHQXQMXNNDQ� EDKZD� SHUVHSVL� PDV\DUDNDW� SHQJJXQD�
OD\DQDQ� (�.73� GL� 'LVSHQGXNFDSLO� NRWD� 6XUDED\D� PHQ\DWDNDQ� EDKZD�
SHQ\HOHQJJDUD� SHOD\DQDQ� PDVLK� NXUDQJ� PHPXDVNDQ� SDGD� EHEHUDSD� SULQVLS��
%HEHUDSD� SULQVLS� \DQJ� PHPSHQJDUXKL� OD\DQDQ� SXEOLN� GL� 'LVSHQGXNFDSLO� NRWD�
6XUDED\D�\DLWX�SULQVLS�WUDQVSDUDQVL��NHPXGDKDQ�DNVHV�LQIRUPDVL�GDQ�SURVHGXUQ\D�
PXGDK���SULQVLS�DNXQWDELOLWDV��WDQJJXQJMDZDE�SHJDZDL�DWDV�NLQHUMD��SHULODNX��GDQ�
HWLND�\DQJ�EDLN���SULQVLS�NHDGLODQ�NHVHWDUDDQ��WLGDN�PHPEHGDNDQ�GDODP�PHPEHUL�
OD\DQDQ� GDQ� VDUDQD� SUDVDUDQD��� 3HQLQJNDWDQ� SHQ\HOHQJJDUD� OD\DQDQ� GL�
'LVSHQGXNFDSLO� NRWD� 6XUDED\D� GDSDW� GLODNXNDQ� GHQJDQ� FDUD� OHELK� WDQJJDS� GDQ�
PHUHVSRQ�PDV\DUDNDW�NHWLND�UDPDL�SHQJXQMXQJ�GDQ�PHQDPEDK�MXPODK�EODQNR�(�
.73�DJDU�WHSDW�ZDNWX�GDODP�PHPEHULNDQ�SHOD\DQDQ�

.DWD�.XQFL��SHUVHSVL�PDV\DUDNDW��SHOD\DQDQ�SXEOLN��JRRG�JRYHUQDQFH


